5. Inserting the Missing Character

In such type of questions, a figure, a set of figures, an arrangement or a matrix is given, each of which bears certain
characters, be it numbers, letters or a group/combination of letters/numbers; following a certain pattem. The candidate
. is required to decipher this pattern and accordingly find the missing character in the figure.

Solved Examples

Direction : Find the missing character from among the given alternatives.

P G
Exl i E N
22 | 21
27 | 15
K E
?N\J/d
(UM 2P 3Q 43S
Sol. PuttingA=1B=2,C=3,D=4, ..., X=24,Y=252=26 we havg:

F+P=6+16=22G+N=7+14=21;J+E=10+5=15.
Since K = 11, sovalue cerresponding to miissing letter = (27 — 11} =16
So, the missing letter is the 16th letter of the English alphabet, which is P. Hence the answer is (2)
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Sol. Clearly, we have = 0 = 12, 0 - 21; A
' 4x8x10
-So, missing number = Xl (;( — =32
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Sol. We have: (8 x6)~ (2 x6) = 36, 7 x8) - (2 x5) = 46.
. Missing npmber =(7 x10) - (4 x6) 46 '
Hence, the answeris (2). » . o S




.

©c. We hatle: (56 + 15) - (22 + 8) = 41, (46 + 9)— (10 + 6) = 39.
So, missing number = (34 + 11) - (14 + 6) = 25.

Hence, the answer is (2).

5] [21] s
Ee 161109 2J [Ez 53 19J [17 2148
<] o
(17 @) 25 (3)49 (4) 129

Sol. We have: (16 — 62 + (5 - 2)2 = 102 + 3% = 109 ; (22 - 152 + (21 — 19 = 72 + 22 = 53,

So, missing number = (17 ~13) + (51 - 48)% = 42 + 3? = 25.

Hence, theansweris(é),g e e e -
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Sol. - In the first column, (4. x7) -1 =27.-- - -+ - - - - -

In the second cd\lmn, {5 x8)-2=38"
So, missing number = (6 x9) - 3 = (54 - 3) = 51.

Hence, theansweris{3).
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.~ Sol. PutingA=1,B=2,C=3,...,M= 13, ..., X = 24,Y = 25, Z = 26, we have:

nthefirstrow F+1=649=15=0. . o

inthe second row, A +J = 1+10=11=K =~
» So, in the third r:ow, missing Iétter = E +1Mf= 5+13 =,:18 -R _

Hence, the answer is {2). :



EXERCISE

Direction {Q.1 to Q.20) : Find the missing term (?).-
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